(B 1) RHZH %
ISR (1 =4R6R)
I X e &
(£D—) #HE BRI WA
I A X i
® a ey ® H e
Jiti 5 A FRRE e OV 1 VB 449, 931 o8 BAR A P 653, 308
NG NS 194, 282
VLY T JT# 5,091
TR MR 125, 747 PRI A A 16, 031
FEBE « X NG 95, 853 e R 265
FRARTAAR - SRR W SEEIHE 9, 207
W55 29, 894 Jit SR HME A 1 E 108, 428
sl it e T 76, 088
B A A2 300 it R 0 R e 233, 172
(7L VRV IR Ly 9,311
e WEIBBR BT i - Rty
Z OAth, ESECREY ¢
fif ST E MR E 67, 065 | i A A 1,433
T PR Z Ot 0
ff SIE & M 63, 746 B 4 5 R 4
FE 3,319 fitt PR A 4
PN il B
ik fiax THEBL
TRAE Tt 3¢ 62, 371 Z DA
LSg ) 62,371 e E PSR AN EE R 0
HEAR Y ¥y
Z OAth, KEEIAE
VRV I o P i % TR
L) WLEE fit 5% IES
VIS B0 050 2 i e ¢ 1, 627 (ERLIRNESE e
PEVE R A iR JL
ARG K 15, 489 Fl+
IRARIEER - (A Z Ot 0
Gk TR
A F+
+- 1 89, 121 — R FE DA




(ZD—) EE BRI RS

I

# H

&
(M

%
)

&
Zof

5 TR
A i A
BRI
ST G PR
FHCRH

[ ¢
WA e
SEERANS
EIRASTS T B4
Zof

W+ TR

TAH A
i

it

oy

pii

4
o

Hl+

ST 55

TR

2 R BROER

REE AL TE A

SRR

THE PR 2

AR A

RITARBERR N 42

Tkt

Z DA
—REF S O

88,511
45, 956
45, 956

639
639

6, 465

89, 300
9, 200
80, 100

37, 629

3, 787

123
33,719

23, 388

AN =
=

653, 308

o

653, 308




(B 2) R s
(D) BRI R
I X i
% : S H : e
[E] i 3 4 52,000 R BAGRE B 138, 940
FEA S 7% 52, 000 NG 105, 180
R it 7% 3, 272
BRETMIRR « PRAHERR 0 T 30, 488
WL« TETAT S H 4 0 FEA SR R i 347, 007
FEA X B FEAHSE 130, 000
R it M3 S 4 217, 007
BREEfiRR - PRAHERR R i e i 0
CRESY/ T ELE A AR
Sl B e 0 B AR S
YN BRAEHEA - (R AR & 0
i X [ELHE S S A A
PR - PR AR BN EAHS 0
A Jii JELAE Tt A R e
Ny 263, 600 VESERN B i 2
FEA R 263, 600 HIE 4
T i B4
BRBEMRR © PhENMiRx 0 Z Dt 0
JE A Jifi A% F B iR 4
TEZER FATHE R
Z Dl SRt LHH
Bt AEIRS R PR N EE RS 366, 266
< Dfth, 0 INME 366, 266
FERIR T2 FEA Nt a% 322, 800
AL TE D FADIA JLA 306, 128
FATHIE BB IR F+ 16, 672
ERIE T i 0
FED D O A4 TLAR 0
ZREFENA FF 0
VRV BR T A P4 BREEMRR © PhEMiax 43, 466
JLA 42, 569




(D) AR BRI SRS

I A X H
% ; e # i e
—XEZFED B DN E 536, 613 F7 897
FEAN R 31, 407 A fith 5% 0
i X TLAR
BREZHEAR - PRt 0 FF
JE A fi ek (=S 0
TR JLA
& 4 F 7
B4 Z Dt 0
Z Dl 505, 206 Tl
FF
— R F DN
= 7 852, 213 & 7 852, 213




